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The valueof 4 x2+30f12-3+2%x(2-3)x2+3+20f3Iis:
4x2+12HT3-3+2x(2-3)x2+3+ 3R 2 HT U FIT 2?2
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1. 59/18
2. 67/18
3. 23/6
4. 13/18
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A wooden piece in the shape of a cuboid is divided into five equal parts by
cutting it with four cuts perpendicular to its length, and it turns out that each
piece is a cube of volume 27 cm’. What is the total surface area (in cm?2) of the
cuboid?

Tk THTH o TR T Teh TAHRE! T ThST IHEhT TIaTg oh olaad O hIE qeht aidl
SIS W ST AT 8, 3T T AT Bhan € fob Seeieh gehgT 27 FHl3 SA1ae i o

Bl A AT T Thel T Aot (FHT #) foraam 72 1. 150
(NS 2. 174
S 3. 216

4. 198
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The difference between a positive number and its reciprocal increases by a factor
of 175/144 when the number is made to increase by 20%. What is the number?
Ueh ATk HEAT 3R 36k SeshW oh STer o e 175/144 o UGS ¥ 9¢ AT 8
e HEAT H 20% W Ffeg Y ATt 21 A AT o 82

1. 7.5
77N .
3. 2.5

4. 5
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The simple interest earned on a sum is 1/235 of the sum, where the number of

years of investment is equal to the rate percentage. For how many years was the

sum invested?

Teh 9T UR 37T ETLITRUT ST (9T T 1/25 B, TRT (19T o 991 <hl HE&AT R afa9ra
% TSR g1 A1 vt ot 9T forar et o feru forar mram an?

1. 2
7, Y H\ XN 2.5
//‘ \0\ E ED >\°\

4. 4
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How many numbers between 500 and 900, both inclusive, are exactly divisible by
all the numbers, 12, 15, 20 and 30?

500 3T 900 ST T I FHIA FY Ik STel fohaT HGATE §, A 12, 15, 20 3R 30
Tl TS | guia: faam 82

1. 4
7, / H\ XN 2.5
//‘ \0\ E ED >\°\

4. 6
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If 24 men can do a work in 15 days by working 12 hours daily, then in how many
days will 36 men be able to do double the quantum of work, by working 10 hours
daily?

AfY 24 T6W WIS 12 ©E T hieh foRdlt shrdl @i 15 fEAT W & Tehel §, a1 T e
10 =& T F¥eh 36 W foha- f&T W Tl it WTAT Bl SRIAT Shid W |ETH BT

1. 30

7, / H\ XN 2. 32
//‘ \0\ E ED >\°\

Qe P 3. 24

4. 12
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A lady walks to her office every day from home and maintains a fixed time for
the same. On one day she decreases her speed by 25%. By what fraction of her

usual time will she be late on that day?

U Aieer afafaq oX & 31U wraterd ATdt & ofR 36t o foru ves At o ar
FAT Bl Uk o o 1ot i 25% & | o 3T 31 91 98 37U T 90T %
for To=1 ae6 3@ o | ugerit?

1. 153
\/ﬁ\ L 2. 2/3
{SEE
Qe 5 3. 1/4

4. 1/6
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Two similar pieces of an item were purchased by paying the same amount for

each, and they were sold, respectively, for a profit of 25% and a loss of 20%.

What was his profit percentage?

Teh I o ST AHT Zohe, Teeh Shl THTH W37 UR STAT Shteh TIIET 4T § 3T 378
SRAIT: 25% o T 3T 20% <hT BT U ST TAT )| a7 SHRT AT Tfa9Ta T AT?

|
7 /[N
> \ 2. 4.5
// \0\ l: Lﬁ /773

3. 2.5
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In what ratio should two varieties of tea at ¥ 300 and ¥ 400 per kg, respectively,
be mixed so that the mixture is worth ¥ 320 per kg?

300 T 3R 400 T T Torar <Y = <t 31 foret st shwer: forer srquma ®
foreTrer ST TR for frsror w6 wer 320 Tur wi e A

1. 1:5
\\//_ .—i\\/ 2.1:4
//‘ \0\ l: Lﬁ /:\""\

3. 5:1

4. 4:1
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If a person sells 80% of the number of toys for an amount with which he

purchased all the toys, then what is his profit percentage?

Te Ueh sAfh RacTHT Al TEAT T 80% 3T T WX ST & ™od 3@+ asft fad=
@A E, A IHRT AT TT9Ta ST 82

1. 20
7 /[N
e 2. 225
// \0\ l: Lﬁ /773

3. 25

4. 40
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X, Y, Z enter into a partnership venture with a capital of ¥ 1,20,000, in which the

contribution of Y and Z are, respectively, 40% more and ¥1,000 more than than
of X. The profit earned is 20% of the capital. Out of this profit, 10% goes
towards some incidental expenses. What is the share (in %) of X out of it?
1,20,000 U ST GSTt o TTA X, Y, Z Teh TSGR I2TH T T4 I 5, (08 Y 3R
7 T AWTEH HETT: X Y T H 40% 3TFereh 371 1,000 T 31 21 1fia ow
USAT T 20% Bl 39 ATH H T 10% FHS ATH{HE Tl H TeAT AT 81 FaH § X T
feea (B #) w22

1 /8700
Hat=E) ) 1. 7,500
b 2. 4,800
3. 7,000

4. 6,300
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Two circles touch each other externally; the distance between their centres is 12

cm and the sum of their areas (in cm2) is 74 Tt. What is the radius of the smaller
circle?

21 I Teh GO ST ATET & 8 TS A o5 Ik ohal o sftel ohi g4 12 | § 3R 3k
SIAHEAT ST ANTHS (AHT2 W) 7471 | 9 Bie T i BT foheA1 22

1. 2.8
\//_ “_'\\\/ 2. 45
//‘ \0\ l: Lﬁ /:\""\
X 2 s

4. 3
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